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DECODER CHART

HOW TO PLAY:

Use your decoder chart to
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Cipher #1

A/B|lC/DIE|FIG|IH|I|]J|/K|L I M|N|O|P|Q R|S | T|U|VIW| X |Y|Z

112|3(4|5/6/7|8/9(10|11 (12 13 |14 (15|16 (17|18 (19 20|21 |22|23 (24|25 |26

Cipher #2

A/BI[C/IDEIFIGIHl (J|K|LIMN|O|IP|Q|R|S | T|U|V | W|X Y|Z
2/3|4/5|6(7/8|9(10|11 |12 (13|14 |15 (16 |17 |18 (19|20 |21 (22 23|24 25|26 |27

Cipher #3

AB|ICIDIE|F|G|H|I|JIKILIM|NJO|P|Q|R|S|T|U| V| W|X |Y | Z

7(14(21|28| 35|42 49|56 63|70|77|84/91(98(105|112{119|126|133|140|147|154|161|168 |175| 182

Cipher #4

AIB|CID|IE|FIGIH|I|J|KILIM|N([O|IPIQIR|S|T|U |V W|X|Y]|2

5/10|/15/20|25(30|35|40|45|50|55|60|65|70(75|80/85|90(95|100|105|110|115|120| 125|130

Cipher #5

ABCDIE|F|IG|H|I|J KILIM|NOPQR|S| T/UVIW|X|Y|Z




